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-XGXO�7KHVLV ��5DQFDQJDQ�3HQ\HPSXUQDDQ�3HUIRUPDQFH�0DQDJHPHQW�6\VWHP��

SDGD�37��3HUWDPLQD��3HUVHUR�
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3HUWDPLQD� DGDODK� VHEXDK� %DGDQ� 8VDKD� 0LOLN� 1HJDUD� \DQJ� PHUXSDNDQ�

SHQ\XPEDQJ� GHYLGHQ� WHUEHVDU� EDJL� SHPHULQWDK�� 3RVLVL� \DQJ� FXNXS� YLWDO� LQL�

PHQ\HEDENDQ�3HUWDPLQD�KDUXV�PHPLOLNL�NLQHUMD�\DQJ�XQJJXO�DJDU�GDSDW� WHUXV�PHQMDGL�

SHQJJHUDN� URGD� SHUHNRQRPLDQ� QHJDUD�� 'DODP� XSD\D� DJDU� GDSDW� WHUXV� WXPEXK� GDQ�

EHUNHPEDQJ��PDND�3HUXVDKDDQ�KDUXV�PHQJJHUDNNDQ�VHPXD�HOHPHQ�GDODP�RUJDQLVDVL�

XQWXN� EHUVDPD�VDPD� PHPLOLNL� NLQHUMD� \DQJ� PHQGXNXQJ� WXMXDQ� SHUXVDKDDQ�� +DO� LWX�

GDSDW� WHUFDSDL� DSDELOD� SHUXVDKDDQ�PHPLOLNL�3HUIRUPDQFH�0DQDJHPHQW�6\VWHP \DQJ�

LGHDO�-LND�GLOLKDW�GDUL�KDVLO�HPSOR\HH�RSLQLRQ�VXUYH\ 3HUWDPLQD�\DQJ�GLQDPDNDQ�³WKHPH�

R�PHWHU�VXUYH\´�GLWHPXNDQ�IDNWD�EDKZD�SHUIRUPDQFH�PDQDJHPHQW PDVLK�PHQMDGL�LVVXH�

EDJL� SHUXVDKDDQ� GHQJDQ� VNRU VXUYH\� WHUHQGDK� GDUL� WDKXQ� ����� V�G� ������ 'DUL� KDVLO�

LGHQWLILNDVL� PHQJJXQDNDQ� PHWRGH� ZDZDQFDUD�� VXUYH\� SHUVHSVL� NDU\DZDQ� GDQ� VWXGL�

GRNXPHQ�� GLSHUROHK� NHVLPSXODQ� EDKZD� SHUIRUPDQFH� PDQDJHPHQW� V\VWHP� \DQJ� DGD�

VDDW�LQL�EHOXP�HIHNWLI�GDQ�HILVLHQ� 7HUNDLW�GHQJDQ�KDO�WHUVHEXW�PDND� 5DQFDQJDQ�

SHQ\HPSXUQDDQ�\DQJ�DNDQ�GLODNXNDQ�DGDODK�PHPSHUEDLNL�SHUPDVDODKDQ�SHUIRUPDQFH�

PDQDJHPHQW� V\VWHP EHUGDVDUNDQ� URRW� FDXVH \DQJ� GLWHPXNDQ� EDLN� GDUL� VXPEHU� GDWD�

SULPHU�PDXSXQ�VHNXQGHU��PHPEXDW�SHUIRUPDQFH�PDQDJHPHQW�V\VWHP�\DQJ�LGHDO�\DQJ�

VHVXDL� GHQJDQ� VWUDWHJL� ELVQLV� SHUWDPLQD� 'DQ� XQWXN� PHQJLPSOHPHQWDVLNDQ�

SHQ\HPSXUQDDQ�3HUIRUPDQFH�PDQDJHPHQW�V\VWHP LQL�DNDQ�GLEXDW�623�GDQ�3HGRPDQ�


